



Symmetric Functions of Binary Products of Fibonacci and Orthogonal Polynomials

Ali Boussayoud^a, Mohamed Kerada^a, Serkan Araci^b, Mehmet Acikgoz^c, Ayhan Esi^d

^aLMAM Laboratory and Department of Mathematics, Mohamed Seddik Ben Yahia University, Jijel, Algeria

^bDepartment of Economics, Faculty of Economics, Administrative and Social Sciences, Hasan Kalyoncu University, TR-27410 Gaziantep, Turkey

^cDepartment of Mathematics, Faculty of Arts and Science, University of Gaziantep, TR-27310 Gaziantep, Turkey

^dDepartment of Mathematics, Science and Art Faculty, Adiyaman University, TR-02040 Adiyaman, Turkey

Abstract. In this paper, we introduce a new operator in order to derive some new symmetric properties of Fibonacci numbers and Chebychev polynomials of first and second kind. By making use of the new operator defined in this paper, we give some new generating functions for Fibonacci numbers and Chebychev polynomials of first and second kinds.

1. Introduction and preliminaries

In mathematics, orthogonal polynomials consist of polynomials such that any two different polynomials in the sequence are orthogonal to each other under some inner product. The most widely used orthogonal polynomials are the classical orthogonal polynomials, consisting of the Hermite polynomials, the Laguerre polynomials, the Jacobi polynomials together with their special cases the Gegenbauer polynomials, the Chebyshev polynomials, and the Legendre polynomials, *cf.* [8], [9].

Recent works including the symmetric properties of some known special polynomials, e.g., Bernoulli polynomials, Euler polynomials, Genocchi polynomials and others, have been extensively investigated. For details, see, [1], [2], [11], [12], [13], [14], [15], [19], [20], [21].

In this contribution, we shall define a new useful operator denoted by $L_{e_1 e_2}^{-k}$ for which we can formulate, extend and prove new results based on our previous ones, see [5], [6], [7]. In order to determine generating functions for Fibonacci numbers and Tchebychev polynomials of the first and second kind, we combine between our indicated past techniques and these presented polishing approaches.

We shall handle functions on different sets of indeterminates (called alphabets, though we shall mostly use commutative indeterminates for the moment). A symmetric function of an alphabet A is a function of the letters which is invariant under permutation of the letters of A . Taking an extra indeterminate z , one has two fundamental series

$$\lambda_z(A) = \prod_{a \in A} (1 + za), \quad \sigma_z(A) = \frac{1}{\prod_{a \in A} (1 - za)}$$

2010 *Mathematics Subject Classification.* Primary 05E05; Secondary 11B39.

Keywords. Symmetric functions; Generating functions; Fibonacci numbers; Chebychev polynomials of first and second kinds.

Received: 11 September 2017; Accepted: 25 June 2019

Communicated by Dragan S. Djordjević

Corresponding author: Serkan Araci

Email addresses: aboussayoud@yahoo.fr (Ali Boussayoud), mkerada@yahoo.fr (Mohamed Kerada), mtsrkn@hotmail.com (Serkan Araci), acikgoz@gantep.edu.tr (Mehmet Acikgoz), aesi23@hotmail.com (Ayhan Esi)

the expansion of which gives the elementary symmetric functions $\Lambda_n(A)$ and the complete functions $S_n(A)$:

$$\lambda_z(A) = \sum_{n=0}^{\infty} \Lambda_n(A)z^n, \quad \sigma_z(A) = \sum_{n=0}^{\infty} S_n(A)z^n$$

Let us now start at the following definition.

Definition 1.1. Let A and B be any two alphabets, then we give $S_n(A - B)$ by the following form:

$$\frac{\prod_{b \in B}(1 - zb)}{\prod_{a \in A}(1 - za)} = \sum_{n=0}^{\infty} S_n(A - B)z^n = \sigma_z(A - B) \tag{1.1}$$

with the condition $S_n(A - B) = 0$ for $n < 0$ (see [3]).

Corollary 1.2. Taking $A = 0$ in (1.1) gives

$$\prod_{b \in B}(1 - zb) = \sum_{n=0}^{\infty} S_n(-B)z^n = \lambda_z(-B). \tag{1.2}$$

Further, in the case $A = 0$ or $B = 0$, we have

$$\sum_{n=0}^{\infty} S_n(A - B)z^n = \sigma_z(A) \times \lambda_z(-B). \tag{1.3}$$

Thus,

$$S_n(A - B) = \sum_{k=0}^n S_{n-k}(A)S_k(-B) \quad (\text{see [4]}). \tag{1.4}$$

Since the summation is, indeed, limited to a finite number of nonzero terms, we have

$$S_n(x - B) = x^n S_0(-B) + x^{n-1} S_1(-B) + x^{n-2} S_2(-B) + \dots,$$

where $S_k(-B)$ are the coefficients of polynomials $S_n(x - B)$ for $0 < k < n$.

Notice that $S_k(-B) = 0$ for $k > n$. Let $B = \{b, b, \dots, b\}$ be an alphabet of cardinality n , we have

$$S_n(x - b - b - b - \dots - b) = (x - b)^n. \quad (\text{see [8]})$$

Choosing $B = \{1, 1, 1, \dots, 1\}$ yields to two binomial coefficients as

$$S_k(-n) = (-1)^k \binom{n}{k} \text{ and } S_k(n) = \binom{n+k-1}{k}. \tag{1.5}$$

By combining (1.4) with (1.5), we obtain

$$S_k(A - kx) = S_k(A) - \binom{k}{1} x^1 S_{k-1}(A) + \dots \pm \binom{k}{k} x^k.$$

Definition 1.3. Let g be any function on \mathbb{R}^n , then we consider the divided difference operator as the following form

$$\partial_{x_i x_{i+1}}(g) = \frac{g(x_1, \dots, x_i, x_{i+1}, \dots, x_n) - g^\sigma(x_1, \dots, x_i, x_{i+1}, \dots, x_n)}{x_i - x_{i+1}},$$

where g^σ is given by

$$g^\sigma(x_1, \dots, x_i, x_{i+1}, \dots, x_n) = g(x_1, \dots, x_{i-1}, x_{i+1}, x_i, x_{i+2}, \dots, x_n)$$

(see [23]).

Definition 1.4. The symmetrizing operator $L_{e_1 e_2}^{-k}$ is defined by [7]

$$L_{e_1 e_2}^{-k} f = \frac{e_2^k f(e_1) - e_1^k f(e_2)}{(e_1 e_2)^k (e_1 - e_2)} \quad (k \in \mathbb{N}).$$

2. The Main Results

In this part, we are now in a position to provide Lemma 1 for Theorem 1. Also we derive the new generating functions of the products of some known polynomials.

Lemma 2.1. Let $E = \{e_1, e_2\}$, we define the operator $L_{e_1e_2}^{-k}$ as follows:

$$L_{e_1e_2}^{-k} f(e_1) = \frac{-S_{k-1}(E)}{e_1^k e_2^k} f(e_1) + \frac{e_1^k}{e_1^k e_2^k} \partial_{e_1e_2} f(e_1)$$

for all $k \in \mathbb{N}$ (see [7]).

Theorem 2.2. Let E and A be two alphabets, respectively, $\{e_1, e_2\}$ and $\{a_1, a_2, \dots\}$, then we have

$$\frac{\sum_{n=0}^{\infty} S_n(-A) \partial_{e_1e_2}(e_1^{k+n})z^n}{\lambda_{e_1z}(-A) \times \lambda_{e_2z}(-A)} = \sum_{n=0}^{k-1} S_n(A) e_1^n e_2^n \partial_{e_1e_2}(e_1^{k-n})z^n - e_1^k e_2^k z^{k+1} \sum_{n=0}^{\infty} S_{n+k+1}(A) \partial_{e_1e_2}(e_1^{n+1})z^n, \tag{2.1}$$

for all $k \in \mathbb{N}$.

Proof. By applying the operator $L_{e_1e_2}^{-k}$ to the series $f(e_1) = \left(\sum_{n=0}^{\infty} S_n(-A) e_1^n z^n \right)^{-1} = (\lambda_{e_1z}(-A))^{-1}$, we have

$$\begin{aligned} L_{e_1e_2}^{-k} f(e_1) &= L_{e_1e_2}^{-k} \left(\frac{1}{\sum_{n=0}^{\infty} S_n(-A) e_1^n z^n} \right) \\ &= \frac{\frac{e_2^k}{\sum_{n=0}^{\infty} S_n(-A) e_1^n z^n} - \frac{e_1^k}{\sum_{n=0}^{\infty} S_n(-A) e_2^n z^n}}{e_1^k e_2^k (e_1 - e_2)} \\ &= \frac{\sum_{n=0}^{\infty} S_n(-A) e_2^{n+k} z^n - \sum_{n=0}^{\infty} S_n(-A) e_1^{n+k} z^n}{e_1^k e_2^k (e_1 - e_2) (\lambda_{e_1z}(-A) \times \lambda_{e_2z}(-A))} \\ &= \frac{-1}{e_1^k e_2^k} \left(\frac{\sum_{n=0}^{\infty} S_n(-A) \partial_{e_1e_2}(e_1^{k+n})z^n}{\lambda_{e_1z}(-A) \times \lambda_{e_2z}(-A)} \right). \end{aligned}$$

On the other hand,

$$\begin{aligned} L_{e_1e_2}^{-k} f(e_1) &= L_{e_1e_2}^{-k} \left(\sum_{n=0}^{\infty} S_n(A) e_1^n z^n \right) \\ &= \frac{e_2^k \sum_{n=0}^{\infty} S_n(A) e_1^n z^n - e_1^k \sum_{n=0}^{\infty} S_n(A) e_2^n z^n}{e_1^k e_2^k (e_1 - e_2)} \\ &= \frac{1}{e_1^k e_2^k} \left(\sum_{n=0}^{\infty} S_n(A) \frac{e_2^k e_1^n - e_1^k e_2^n}{e_1 - e_2} z^n \right) \end{aligned}$$

$$\begin{aligned}
 &= \frac{1}{e_1^k e_2^k} \left(\sum_{n=0}^{k-1} S_n(A) \frac{e_2^k e_1^n - e_1^k e_2^n}{e_1 - e_2} z^n + \sum_{n=k+1}^{\infty} S_n(A) \frac{e_2^k e_1^n - e_1^k e_2^n}{e_1 - e_2} z^n \right) \\
 &= \frac{-1}{e_1^k e_2^k} \left(\sum_{n=0}^{k-1} S_n(A) e_1^n e_2^n \partial_{e_1 e_2} (e_1^{k-n}) z^n - e_1^k e_2^k z^{k+1} \sum_{n=0}^{\infty} S_{n+k+1}(A) \partial_{e_1 e_2} (e_1^{n+1}) z^n \right).
 \end{aligned}$$

Thus, this completes the proof. \square

3. On The Generating Functions

In this part, we now derive the new generating functions of the products of some known polynomials. Indeed, we consider Theorem 1 in order to derive Fibonacci numbers and Tchebychev polynomials of second kind if $k = 1$.

Theorem 3.1. *Let E and A be two alphabets, respectively, $\{e_1, e_2\}$ and $\{a_1, a_2\}$, then we have*

$$\sum_{n=0}^{\infty} S_{n+2}(a_1 + a_2) \partial_{e_1 e_2} (e_1^{n+1}) z^n = \frac{e_1 e_2 a_1^2 a_2^2 z^2 - a_1 a_2 (e_1 + e_2) (a_1 + a_2) z + (a_1 + a_2)^2 - a_1 a_2}{\lambda_{e_1 z}(-A) \times \lambda_{e_2 z}(-A)}. \tag{3.1}$$

In the case $E = \{1, y\}$ and $A = \{1, x\}$, with substituting $e_1 = a_1 = 1$, $e_2 = x$ and $a_2 = y$ in (3.1), we have

$$\sum_{n=0}^{\infty} S_{n+2}(1+x) S_n(1+y) z^n = \frac{xy^2z^2 - x(1+x)(1+y)z + (1+x)^2 - x}{(1-z)(1-xz)(1-yz)(1-xyz)} \tag{3.2}$$

representing a new generating function of the products $S_{n+2}(1+x)S_n(1+y)$.

Corollary 3.2. *For $n \in \mathbb{N}$, we have*

$$S_{n+2}(1+x) = S_n(1+x) + x(x+1)S_n(x).$$

Proof. From (3.2), we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} S_{n+2}(1+x) S_n(1+y) z^n &= \frac{xy^2z^2 - x(1+x)(1+y)z + (1+x)^2 - x}{(1-z)(1-zx)(1-zy)(1-zxy)} \\
 &= \frac{1 - xyz^2}{(1-z)(1-zx)(1-zy)(1-zxy)} + \frac{x(1+x)}{(1-zx)(1-zxy)}.
 \end{aligned}$$

Since

$$\sum_{n=0}^{\infty} S_n(1+x) S_n(1+y) z^n = \frac{1 - xyz^2}{(1-z)(1-zx)(1-zy)(1-zxy)} \quad (\text{see [7]})$$

we have

$$\sum_{n=0}^{\infty} S_{n+2}(1+x) S_n(1+y) z^n = \sum_{n=0}^{\infty} S_n(1+x) S_n(1+y) z^n + \sum_{n=0}^{\infty} x(1+x) S_n(x) S_n(1+y) z^n.$$

By comparing the coefficients of z^n on the both sides of the above, we have

$$S_{n+2}(1+x) = S_n(1+x) + x(x+1)S_n(x)$$

as desired. \square

For the case $E = \{e_1, -e_2\}$ and $A = \{a_1, -a_2\}$ with replacing e_2 by $-e_2$, a_2 by $-a_2$ in (3.1), we have

$$\sum_{n=0}^{\infty} S_{n+2}(a_1 + [-a_2])S_n(e_1 + [-e_2])z^n = \frac{-e_1e_2a_1^2a_2^2z^2 + a_1a_2(e_1 - e_2)(a_1 - a_2)z + (a_1 - a_2)^2 + a_1a_2}{(1 - a_1e_1z)(1 + a_2e_1z)(1 + a_1e_2z)(1 - a_2e_2z)}. \tag{3.3}$$

By the expression of (3.3), we have some corollaries as follows:

Assuming

$$\begin{cases} a_1 - a_2 = 1, \\ a_1a_2 = 1, \end{cases} \quad \text{and} \quad \begin{cases} e_1 - e_2 = 1, \\ e_1e_2 = 1, \end{cases}$$

in (3.3) gives

$$\begin{aligned} \sum_{n=0}^{\infty} S_{n+2}(a_1 + [-a_2])S_n(e_1 + [-e_2])z^n &= \frac{2 + z - z^2}{1 - z - 4z^2 - z^3 + z^4} \\ &= \sum_{n=0}^{\infty} F_{n+2}F_nz^n \end{aligned}$$

representing a new generating function for the binary product of Fibonacci numbers F_n . From this application, we can state the following corollary.

Corollary 3.3. *The following identity holds true:*

$$F_{n+2}F_n = S_{n+2}(a_1 + [-a_2])S_n(e_1 + [-e_2]).$$

Also we give a new generating function for the binary product of Fibonacci numbers by the following theorem.

Theorem 3.4. *For $n \in \mathbb{N}$, the generating function of the binary product of Fibonacci numbers is given by*

$$\sum_{n=0}^{\infty} F_{n+1}F_nz^n = \frac{1}{1 - 2z - 2z^2 + z^3}.$$

Proof. We have

$$\begin{aligned} \sum_{n=0}^{\infty} F_{n+2}F_nz^n &= \sum_{n=0}^{\infty} (F_{n+1} + F_n)F_nz^n \\ &= \sum_{n=0}^{\infty} F_{n+1}F_nz^n + \sum_{n=0}^{\infty} F_n^2z^n. \end{aligned}$$

Since

$$\sum_{n=0}^{\infty} F_n^2z^n = \frac{1 - z^2}{1 - z - 4z^2 - z^3 + z^4} \quad (\text{see [8]})$$

we have

$$\sum_{n=0}^{\infty} F_{n+2}F_nz^n = \frac{1 + z}{1 - z - 4z^2 - z^3 + z^4} + \frac{1 - z^2}{1 - z - 4z^2 - z^3 + z^4},$$

therefore

$$\sum_{n=0}^{\infty} F_{n+1}F_nz^n = \frac{1}{1 - 2z - 2z^2 + z^3}.$$

□

Upon setting

$$\begin{cases} a_1 - a_2 = 2, \\ a_1 a_2 = 1, \end{cases} \quad \text{and} \quad \begin{cases} e_1 - e_2 = 2, \\ e_1 e_2 = 1, \end{cases}$$

in (3.3) yields

$$\begin{aligned} \sum_{n=0}^{\infty} S_{n+1}(a_1 + [-a_2])S_{n-1}(e_1 + [-e_2])z^n &= \frac{5z + 4z^2 - z^3}{1 - 4z - 10z^2 - 4z^3 + z^4} \\ &= \sum_{n=0}^{\infty} P_{n+2}P_n z^n \end{aligned}$$

that means a new generating function of the binary product of Pell numbers F_n . By comparing the coefficients z^n on both sides of (3.5), we have the following corollary.

Corollary 3.5. *The following identity holds true:*

$$P_{n+2}P_n = S_{n+1}(a_1 + [-a_2])S_{n-1}(e_1 + [-e_2]).$$

The generating function of the binary product of Pell numbers is given by means of the following theorem.

Theorem 3.6. *For $n \in \mathbb{N}$, the generating function of the product of Pell numbers is given by*

$$\sum_{n=0}^{\infty} P_{n+1}P_n z^n = \frac{2z + 2z^2}{1 - 4z - 10z^2 - 4z^3 + z^4}.$$

Proof. We have

$$\begin{aligned} \sum_{n=0}^{\infty} P_{n+2}P_n z^n &= \sum_{n=0}^{\infty} (2P_{n+1} + P_n)P_n z^n \\ &= 2 \sum_{n=0}^{\infty} P_{n+1}P_n z^n + \sum_{n=0}^{\infty} P_n^2 z^n. \end{aligned}$$

Since

$$\sum_{n=0}^{\infty} P_n^2 z^n = \frac{z - z^3}{1 - 4z - 10z^2 - 4z^3 + z^4} \quad (\text{see [6]})$$

we have

$$\sum_{n=0}^{\infty} P_{n+1}P_n z^n = \frac{1}{2} \left(\sum_{n=0}^{\infty} P_{n+2}P_n z^n - \sum_{n=0}^{\infty} P_n^2 z^n \right),$$

therefore

$$\sum_{n=0}^{\infty} P_{n+1}P_n z^n = \frac{2z + 2z^2}{1 - 4z - 10z^2 - 4z^3 + z^4}.$$

□

By taking

$$e_1 - e_2 = 1, e_1 e_2 = 1, 4a_1 a_2 = -1,$$

and changing

$$(a_1 - a_2) \text{ to } 2(a_1 - a_2)$$

in (3.3), we derive a new generating function involving the product of Fibonacci numbers with Tchebychev polynomial of second kind

$$\begin{aligned} \sum_{n=0}^{\infty} S_{n+2}(2a_1 + [-2a_2])S_n(e_1 + [-e_2])z^n &= \frac{-1 + 4(a_1 - a_2)^2 - 2(a_1 - a_2)z - z^2}{P_{UF}} \\ &= \sum_{n=0}^{\infty} U_{n+2}(a_1 - a_2)F_n z^n \end{aligned}$$

with

$$P_{UF} = 1 - 2(a_1 - a_2)z + (3 - 4(a_1 - a_2)^2)z^2 + 2(a_1 - a_2)z^3 + z^4.$$

We deduce the following both corollary and theorem.

Corollary 3.7. *The following identity holds true:*

$$S_{n+2}(2a_1 + [-2a_2])S_n(e_1 + [-e_2]) = U_{n+2}(a_1 - a_2)F_n.$$

Theorem 3.8. *We have the following a new generating function of the product of Fibonacci numbers and Tchebychev polynomials of second kind as*

$$\sum_{n=0}^{\infty} U_{n+1}(a_1 - a_2)F_n z^n = \frac{2(a_1 - a_2) - z}{P_{UF}}.$$

Proof. For the proof of this theorem, the following generating function is first considered:

$$\begin{aligned} \sum_{n=0}^{\infty} U_{n+2}(a_1 - a_2)F_n z^n &= \frac{-1 + 4(a_1 - a_2)^2 - 2(a_1 - a_2)z - z^2}{P_{UF}} \\ &= -\frac{1 + z^2}{P_{UF}} - \frac{-4(a_1 - a_2)^2 + 2(a_1 - a_2)z}{P_{UF}}. \end{aligned}$$

Foata [14] derived the following generating function

$$\sum_{n=0}^{\infty} U_n(a_1 - a_2)F_n z^n = \frac{1 + z^2}{P_{UF}}.$$

By making use of the generating function given by Foata, we see the following series manipulation:

$$\begin{aligned} \sum_{n=0}^{\infty} U_{n+2}(a_1 - a_2)F_n z^n &= -\sum_{n=0}^{\infty} U_n(a_1 - a_2)F_n z^n - 2(a_1 - a_2) \frac{-2(a_1 - a_2) + z}{P_{UF}} \\ \sum_{n=0}^{\infty} U_{n+2}(a_1 - a_2)F_n z^n + \sum_{n=0}^{\infty} U_n(a_1 - a_2)F_n z^n &= -2(a_1 - a_2) \frac{-2(a_1 - a_2) + z}{P_{UF}} \\ \sum_{j=0}^{\infty} [U_{n+2}(a_1 - a_2) + U_n(a_1 - a_2)]F_n z^n &= -2(a_1 - a_2) \frac{-2(a_1 - a_2) + z}{P_{UF}} \\ \sum_{j=0}^{\infty} 2(a_1 - a_2)U_{n+1}(a_1 - a_2)F_n z^n &= -2(a_1 - a_2) \frac{-2(a_1 - a_2) + z}{P_{UF}}. \end{aligned}$$

Thus it is proved by the following generating function.

$$\sum_{n=0}^{\infty} U_{n+1}(a_1 - a_2)F_n z^n = \frac{2(a_1 - a_2) - z}{P_{UF}}.$$

□

Choosing a_i and e_i for $i = 1, 2$ such that

$$e_1 e_2 = a_1 a_2 = -1$$

and changing

$$(a_1 - a_2) \text{ to } 2(a_1 - a_2) \text{ and } (e_1 - e_2) \text{ to } 2(e_1 - e_2)$$

in (3.3), we get a new generating function involving the square of Tchebychev polynomials of second kind

$$\begin{aligned} \sum_{n=0}^{\infty} S_{n+2}(2a_1 + [-2a_2])S_n(2e_1 + [-2e_2])z^n &= \frac{z^2 - 1 + 4(a_1 - a_2)^2 - 4(a_1 - a_2)(e_1 - e_2)z}{P_{UU}} \\ &= \sum_{n=0}^{\infty} U_{n+2}(a_1 - a_2)U_n(e_1 - e_2)z^n \end{aligned}$$

with

$$P_{UU} = 1 - 4(e_1 - e_2)(a_1 - a_2)z + (4(a_1 - a_2)^2 + 4(e_1 - e_2)^2 - 2)z^2 - 4(e_1 - e_2)(a_1 - a_2)z^3 + z^4.$$

Thus we get the following both corollary and theorem.

Corollary 3.9. *The following identity holds true:*

$$S_{n+2}(2a_1 + [-2a_2])S_n(2e_1 + [-2e_2]) = U_{n+2}(a_1 - a_2)U_n(e_1 - e_2).$$

Theorem 3.10. *We have a new generating function of the product of Tchebychev polynomials of second kind as*

$$\sum_{n=0}^{\infty} U_{n+1}(a_1 - a_2)U_n(e_1 - e_2)z^n = \frac{2(a_1 - a_2) - 2(e_1 - e_2)z}{P_{UU}}.$$

Proof. We have,

$$\begin{aligned} \sum_{n=0}^{\infty} U_{n+2}(a_1 - a_2)U_n(e_1 - e_2)z^n &= \sum_{n=0}^{\infty} [2(a_1 - a_2)U_{n+1}(a_1 - a_2) - U_n(a_1 - a_2)]U_n(e_1 - e_2)z^n \\ &= 2(a_1 - a_2) \sum_{n=0}^{\infty} U_{n+1}(a_1 - a_2)U_n(e_1 - e_2)z^n - \sum_{n=0}^{\infty} U_n(a_1 - a_2)U_n(e_1 - e_2)z^n. \end{aligned}$$

Since

$$\sum_{n=0}^{\infty} U_n(a_1 - a_2)U_n(e_1 - e_2)z^n = \frac{1 - z^2}{P_{UU}} \quad (\text{see [8, 9]})$$

so

$$\sum_{n=0}^{\infty} U_{n+2}(a_1 - a_2)U_n(e_1 - e_2)z^n = 2(a_1 - a_2) \frac{2(a_1 - a_2) - 2(e_1 - e_2)z}{P_{UU}} - \frac{1 - z^2}{P_{UU}},$$

therefore

$$\sum_{n=0}^{\infty} U_{n+1}(a_1 - a_2)U_n(e_1 - e_2)z^n = \frac{2(a_1 - a_2) - 2(e_1 - e_2)z}{P_{UU}}.$$

□

Furthermore,

$$S_{n+1}(2a_1 + [-2a_2]) = \frac{(2a_1)^{n+2} - (-2a_2)^{n+2}}{2a_1 + 2a_2} \quad (\text{see [10]})$$

we have a mixed generating function including the product of Tchebychev polynomials of the second and first kinds

$$\sum_{n=0}^{\infty} T_{n+2}(a_1 - a_2)U_n(e_1 - e_2)z^n = \frac{-1 + 2(a_1 - a_2)^2 - 2(a_1 - a_2)(e_1 - e_2)z + z^2}{P_{TU}},$$

with

$$P_{TU} = 1 - 4(e_1 - e_2)(a_1 - a_2)z + (4(a_1 - a_2)^2 + 4(e_1 - e_2)^2 - 2)z^2 - 4(e_1 - e_2)(a_1 - a_2)z^3 + z^4.$$

Thus we conclude with the following theorem.

Theorem 3.11. *We have a new generating function including Tchebychev polynomials of the second and first kinds*

$$\sum_{n=0}^{\infty} T_{n+1}(a_1 - a_2)U_n(e_1 - e_2)z^n = \frac{(a_1 - a_2) - 2(e_1 - e_2)z + (a_1 - a_2)z^2}{P_{TU}}.$$

Proof. we see that

$$\begin{aligned} \sum_{n=0}^{\infty} T_{n+2}(a_1 - a_2)U_n(e_1 - e_2)z^n &= \sum_{n=0}^{\infty} [2(a_1 - a_2)T_{n+1}(a_1 - a_2) - T_n(a_1 - a_2)] U_n(e_1 - e_2)z^n \\ &= 2(a_1 - a_2) \sum_{n=0}^{\infty} T_{n+1}(a_1 - a_2)U_n(e_1 - e_2)z^n - \sum_{n=0}^{\infty} T_n(a_1 - a_2)U_n(e_1 - e_2)z^n. \end{aligned}$$

On the other hand, we know that

$$\sum_{n=0}^{\infty} T_n(a_1 - a_2)U_n(e_1 - e_2)z^n = \frac{1 - 2(a_1 - a_2)(e_1 - e_2)z + (2(a_1 - a_2)^2 - 1)z^2}{P_{TU}} \quad (\text{see [8, 9]})$$

from which it follows

$$\begin{aligned} \sum_{n=0}^{\infty} T_{n+2}(a_1 - a_2)U_n(e_1 - e_2)z^n &= \frac{2(a_1 - a_2) [(a_1 - a_2)(1 + z^2) - 2(e_1 - e_2)z]}{P_{TU}} - \\ &\quad \frac{1 - 2(a_1 - a_2)(e_1 - e_2)z + (2(a_1 - a_2)^2 - 1)z^2}{P_{TU}}, \end{aligned}$$

therefore

$$\sum_{n=0}^{\infty} T_{n+1}(a_1 - a_2)U_n(e_1 - e_2)z^n = \frac{(a_1 - a_2) - 2(e_1 - e_2)z + (a_1 - a_2)z^2}{P_{TU}}.$$

□

4. Conclusion

In this paper, we have derived Theorem 1 by making use of symmetrizing operator given by Definition 3. By making use of Theorem 1, we have obtained Theorem 2 which is led to a new generating function for a class of new family of complete functions. By the Theorem 2, we have written some new generating functions for the binary products of Fibonacci numbers, Pell numbers and Tchebychev polynomials of the first and second kinds.

In our forthcoming investigation, we plan to establish further results and properties associated with some generalized forms of the above-mentioned families of polynomials.

References

- [1] S. Araci, Novel identities involving Genocchi numbers and polynomials arising from applications of umbral calculus, *Appl. Math. Comput.* **233** (2014), 599-607.
- [2] S. Araci, M. Acikgoz, E. Sen, On the von Staudt-Clausen's theorem associated with q -Genocchi numbers, *Appl. Math. Comput.* **247** (2014), 780-785.
- [3] A. Abderrezzak, Généralisation de la transformation d'Euler d'une série formelle, *Adv. Math.* **103** (1994), 180-195
- [4] A. Abderrezzak, Généralisation d'identités de Carlitz, Howard et Lehmer, *Aequationes Math.* **49** (1995), 36-46.
- [5] A. Boussayoud, On some identities and generating functions for Pell-Lucas numbers, *Online J. Anal. Comb.* **12** (2017), 1-10.
- [6] A. Boussayoud, N. Harrouche, Complete Symmetric Functions and k -Fibonacci Numbers, *Commun. Appl. Anal.* **20** (2016), 457-467.
- [7] A. Boussayoud, R. Sahali, The application of the operator $L_{b_1 b_2}^{-k}$ in the series $\sum_{j=0}^{+\infty} a_j b_1^j z^j$, *J. Adv. Res. Appl. Math.* **7**(2015), 68-75.
- [8] A. Boussayoud, M. Kerada, A. Abderrezzak, Some applications of symmetric functions, *Integers*. **15** (2015), 1-7.
- [9] A. Boussayoud, M. Kerada, R. Sahali, W. Rouibah, Some Applications on Generating Functions, *J. Concr. Appl. Math.* **12** (2014), 321-330.
- [10] A. Boussayoud, M. Kerada, Symmetric and Generating Functions, *Int. Electron. J. Pure Appl. Math.* **7** (2014), 195-203.
- [11] C. Cesarano, Multi-dimensional Chebyshev polynomials: a non-conventional approach, *Commun. Appl. Ind. Math.* **10** (2019), 1-19.
- [12] C. Cesarano, P. E. Ricci, Orthogonality Properties of the Pseudo-Chebyshev Functions (Variations on a Chebyshev's Theme), *Mathematics*. **7** (2019), 1-11.
- [13] C. Cesarano, S. Pinelas, P. E. Ricci, The Third and Fourth Kind Pseudo-Chebyshev Polynomials of Half-Integer Degree, *Symmetry*. **11** (2019), 1-11.
- [14] D. Foata, G.N. Han, Nombres de Fibonacci et Polynômes Orthogonaux. in M. Morelli and M. Tangheroni, eds., *Leonardo Fibonacci: Il Tempo, Le Opere, L'Eredità Scientifica*, Pacini, Rome. (1990), 179-200.
- [15] D. Foata, Combinatoire et représentation du Groupe symétrique, *Lect. Notes Math.* **579** (1977), 1-339.
- [16] Y. He, W. Zhang, A convolution formula for Bernoulli Polynomials, *Ars Combin.* (2013), 97-104.
- [17] Y. He, W. P. Zhang, Some symmetric identities involving a sequence of polynomials, *Electron. J. Comb.* **17**, Article ID N7 (2010)
- [18] T. Kim, Symmetry of power sum polynomials and multivariate fermionic p -adic invariant integral on \mathbb{Z}_p , *Russ. J. Math. Phys.* **16** (2009), 93–96.
- [19] T. Kim, Symmetry p -adic invariant integral on \mathbb{Z}_p for Bernoulli and Euler polynomials, *J. Differ. Equ. Appl.* **14** (2008), 1267–1277.
- [20] D.V. Kruchinin, V.V. Kruchinin, Application of a composition of generating functions for obtaining explicit formulas of polynomials, *J. Math. Anal. Appl.* **404** (2013), 161–171.
- [21] A. Lascoux, Addition of ± 1 : Application to Arithmetic, *Sémin Lothar Comb.* **52** (2004) 1-9.
- [22] A. Lascoux, M.F. Amy, Partition Analysis and Symmetrizing Operators, *J. Comb. Theory, Ser. A.* **109** (2005), 339-343.
- [23] I.G. Macdonald, *Symmetric functions and Hall polynomials*, Oxford University Press, (1979).
- [24] H. M. Srivastava, Some generalizations and basic (or q -) extensions of the Bernoulli, Euler and Genocchi polynomials, *Appl. Math. Inform. Sci.* **5** (2011), 390-444.
- [25] H. M. Srivastava, Some formulas for the Bernoulli and Euler polynomials at rational arguments, *Math. Proc. Camb.Philos. Soc.* **129** (2000), 77-84.
- [26] H. M. Srivastava, J. Choi, *Zeta and q -Zeta Functions and Associated Series and Integrals*, Elsevier, Amsterdam (2012).